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Full Marks - 50

Candidates are required to give their answers in their own words as far as practicable
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The figures in the margin indicate full marks

Section — A
Answer any five questions

1. The following equations describe an economy : I = 100, G = 75,
T=0.5Y,C=25+0.5Yp.

Find the new level of equilibrium income when I declines by 40.

2. Suppose the government borrowing from domestic financial market
suddenly increases. The borrowed ammount is entirely spent on transfer payments.
Explain the impact of this fiscal intervention on the IS curve and the rate
of interest.

3. IfC=10+0.9Y, and I = 60, what is the level of unplanned inventory
accumulation at’Y = 900.

4. If there is no speculative demand for money, how do IS and LM curves
look like ? In case of widespread unemployment, which policy will be effective ?

5. Suppose, permanent income (Yp) at period1 is measured as

Yp =0 Y; + 02 Y, +03Y; and Z o; =1, what happens to the value of multiplier
i
if o) increases ?
6. IflI=I,+aY, derive the value of the government expenditure multiplier
(in the presence of proportional taxes) in a Keynesian cross model. Comment
briefly on the effectiveness of fiscal policy.
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7. What is Solow residual ? Identify it using a production function with

constant elasticity of substitution. 2+2
8. Suppose that a country devalues it's currency by 12%, but at the same
time domestic prices rise by 10%. What is the magnitude of real devaluation ? 4
Section - B
Answer any five questions 6X5
9. Consider the following economy where
C=100+0.8Yp

G=100, T=100
If both G and T rise by 60, find out the value of multiplier (a) when
I =100 and when (b) I = 30 + 0.3Y.
How do you explain the difference in your answers. 2+2+2
10. Suppose that the government cuts income taxes. Show in the IS-LM
model the impact of the tax-cut under two assumptions,
(a) the government keeps the interest rate constant through an
accommodating monetary policy;
(b) the money stock remains unchanged. 3+3
11. If an individual's life-span is divided in two periods, namely period 1
and period 2, how will he decide the optimum levels of consumption in these two
periods? What happens if there is a rise in the rate of interest ? (use the case of a
net borrower). " 343
12. (a) How is the residential investment related to the rate of interest ?
(b) How is business investment decision related to the profit prospects
of the firm ? 3+3
13. Whatis the exact relationship between the transaction demand for money
and the rate of interest ? How do you know that the relationship optimises the
transaction demand for money ? 4+2
14. How will the AS curve be derived if firms in one sector have imperfect
information on other sector's prices ? Show the change in the AS curve if this

imperfection is corrected over time. 4+2
15. How is the macroeconomic policy-conflict reflected through the short-
run Phillips curve ? Is this conflict visible in the long-run ? 3+3

16. How do you distinguish between steady state rate of capital accumulation
and the golden rate of capital accumulation? Is steady state condition fulfilled in
the 'golden rate' ? 4+2



